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Exam Code: 0939
Sub. Code: 7042
1078
B.E. (Mechanical Engineering)
Third Semester
MEC-302: Mechanics of Materials

Time allowed: 3 Hours Max. Marks: 50

NOTE: Attempt five questions in all, including Question No. 1 which is compulsory

L.

and selecting two questions from each Part. Use usual notations and symbols for

derivations. Assume suitably missing data if any.

X-X-X

Provide short and clear answers to the following:-
a) What do you understand by compatibility conditions?
b) What is the Bauschinger Effect?
¢) Does a pin connected truss element carry bending loads?
d) At what angle to the central axis is the failure plane of a shaft made of ductile
material u:{der torsion?

¢) How will you write G in terms of E and v?

f) What is the expression for strain for 3 beam in pure bending?

g) What are singularity functions?

‘h) What is anticlastic curvature?

i) What is shear flow?

j) What is the shear center for a thin walled beam? (10x1)

P.T.0.
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